


34 WOOD magazine    May 2010

Floating  
Wall Shelves

With attractive shelves this easy to make,  
you’ll soon fill rooms with decorative displays.

Mark THE end length Mark THE LENGTH OF THE front

WHAT YOU’LL NEED

■ Materials: 3⁄4" oak plywood, 3⁄4×3" 
oak, 21⁄4"-wide oak crown molding, 11⁄8" 
oak plywood cap molding.

Friends who see these shelves will 
ask you two questions: “How are 
they supported?” (cleats) and “Can 

you make one for me?” (no problem). 
For variety, try the version on page 37.

Cut and assemble the shelf

1Cut the top (A) and bottom (B) to 
size [Materials List, page 36] from 3∕4" 

plywood. Then, from 3∕4" oak, cut the 
face (C) 2" longer than shown, and ends 
(D) 1" longer than shown. Miter one end 
of the front and each end piece.

2Apply painter’s tape to the front 
edge and both ends of the bottom 

(B) to keep glue from sticking to it later. 
Mark centers of the untaped edge on the 
bottom and one edge of the top (A). 

Align the center marks with the edges 
flush and clamp both parts to your 
workbench [Photo A].

3Hold the face (C) against the taped 
edge of the bottom (B) and one end 

Squeeze the miters together while you mark 
where to cut the end (D) even with the back 
edge of the bottom (B).

Place the mitered end of the face (C) against 
the opposite corner of the bottom (B) while 
marking the second miter’s location.

A B

A

B

D

C

A

C

B

Center marks

DP-00846a          ©Copyright Meredith Corporation 2010



Give your pencil point 
knife-edge precision
When the width of your pencil line 
makes a difference between tight and 
not-so-tight miters, don’t settle for 
heavy pencil marks. Mount 180-grit 
sandpaper on a flat surface and quickly 
sand the point to a chisel shape.

shop tip

exploded view1

woodmagazine.com 35

(D) against a taped end of the bottom 
with their miters together. Mark and cut 
it flush with the bottom edge [Photo A]. 
(See the Shop Tip above for how to draw 
ultrafine marks.)

4With the face (C) and end (D) miters 
tight, mark the miter location at the 

other end of the face [Photo B] and miter-
cut it to length. Now hold the miter on 
the oversize end piece against the front 
miter, mark it at the edge of the bottom 
(B) and cut it to length.

5Sand the face (C) and ends (D) to 180 
grit. Glue and clamp them to the top 

(A) [Drawing 1], using the bottom (B) as a 
guide. After the glue dries, pull out the 
bottom and peel off the tape.

6Cut long spacers (E) and short spac-
ers (F) to size; then glue and clamp 

them to the bottom (B) and ends (D). 
After the glue dries, glue, center, and 
clamp the top (A) to the edges of the face 
(C), ends, long spacers, and short spacers 
to complete the shelf assembly.

Add the crowning touch

1Compare the dimensions of the 
crown molding with the dimensions 

File: 194WallShelf1_#100672454.ai
Date: 7/09
Lorna J.

Filename: 194 Wall shelves  2   (7-11)
R LeMoine 4-27
RL 5-13
Jeff 5/18
RL 7-11

B G

F

C

A

Mitered ends

#8 x 2" F.H. wood screw
angled about 10°

8"36"

¾"

6"

3"

3"

2"

2"

30½"

30"

32"
5¼"

H

I

I

J
K

D

8"

3" E
E

6"

H

#8 x 3" F.H. wood screw
into wall stud

2¼" crown

2¼" crown

9⁄16 x 11⁄8"
plywood cap

D

2¼"
113⁄16"

15⁄16"

2¼" crownHG

F

,

shown [Drawing 1a]. Cut the front crown 
(G) and end crowns (H) about 4" over-
long and miter one end of each. (Note 
the left and right end crowns.) For help 
mitering moldings, see “Cut safe, simple 
miters” on page 36.

2With the shelf assembly (A–F) upside 
down on your bench, tape the 

mitered ends of the front crown (G) and 
one end crown (H) [Photo C]. Then mark 
the end crown where it’s flush with the 
end (D). Cut the end crown to length.

3As you did with the face (C) and end 
(D), mark and cut the front crown 

(G) and other end crown (H) to length. 
Glue and clamp the front crown and 
end crowns in position.

4Cut the end caps (I) and front cap (J) 
about 2" longer than shown. Then 

make a cap-mitering jig to fit your miter-
saw. To do this, cut two 16"-long strips 
from 3∕4" plywood scraps, one 11∕2" wide 
and the other 11∕4" wide. Stack and glue 
the strips with their edges and ends 
flush, then cut miters on both ends.

5With the mitering jig on your saw 
[Photo D], miter one end of the left 

and right end caps (I) and the front cap 

ADD THE CROWN MOLDING

After mitering the front crown (G) to length, 
butt that against the end-crown (H) miter 
and mark the end crown length.

C

File: 194WallShelf1_#100672454.ai
Date: 7/09
Lorna J.

Filename: 194 Wall shelves  2   (7-11)
R LeMoine 4-27
RL 5-13
Jeff 5/18
RL 7-11

B G

F

C

A

Mitered ends

#8 x 2" F.H. wood screw
angled about 10°

8"36"

¾"

6"

3"

3"

2"

2"

30½"

30"

32"
5¼"

H

I

I

J
K

D

8"

3" E
E

6"

H

#8 x 3" F.H. wood screw
into wall stud

2¼" crown

2¼" crown

9⁄16 x 11⁄8"
plywood cap

D

2¼"
113⁄16"

15⁄16"

2¼" crownHG

F

,

(J). Butt the miters on one end cap and 
front cap, then mark the front cap length 
[Photo E]. Cut the front cap to length on 
the mitering jig [Photo F]. Now mark the 
end caps and cut them to length. Glue 
and clamp the end caps and front cap in 
position on the top (A).

End profile  
of molding

1a

A

H

G

C

D

B





woodmagazine.com 37

Crownless Shelf 
Materials List

FINISHED SIZE
Part T W L Matl. Qty.

A top/bottom 3⁄4" 8" 36" OP 2

B* front 3⁄4" 2" 36" O 1

C* ends 3⁄4" 2" 8" O 2

D back spacers 3⁄4" 2" 53⁄4" OP 2

E back 3⁄4" 2" 341⁄2" OP 1

F* end caps 9⁄16" 11⁄8" 85⁄16" OPC 4

G* front caps 9⁄16" 11⁄8" 365⁄8" OPC 2

H hanger cleat 3⁄4" 2" 34" O 1

*Parts initially cut oversize. See the instructions.

Materials key: O–oak, OP–oak plywood, OPC–oak 
plywood cap.
Supplies:  #8×2" flathead wood screws (3), #8×3" 
flathead wood screws (3).

To make a shelf without crown mold-
ing, follow the same procedure as 

before with the following changes:
■ Cut the top and bottom (A) the same 
size [Crownless Shelf Materials List].
■ Glue the front (B) and ends (C) to the 
bottom (A) [Photo G], then add the back 
spacers (D) and back (E) before gluing 
the top (A) in place [Drawing 2].
■ Glue and clamp end and front ply-
wood caps (F, G) to the edges of both the 
top and bottom (A).

Build an even easier shelf

Written by Bob Wilson with Jeff Mertz
Project design: Jeff Mertz
Illustrations: Roxanne LeMoine; Lorna Johnson

Glue ends, front to bottom

G

File: 194WallShelf2_#100672455.ai
Date: 7/09
Lorna J.

A

A

Filename: 194 Wall shelves  1   (7-11)
R LeMoine 4-27
RL 5-13
Jeff 5/18
RL 7-11

C

C

D

DMitered
ends

8" 

8"

36"

36"

34"

34½"

2"
2"

B

#8 x 3" F.H. wood screw
into wall stud

5¾"

H

E

F

F

G

85⁄16"

9⁄16 x 11⁄8"
plywood cap

9⁄16"

11⁄8"

9⁄16 x 11⁄8"
plywood cap

#8 x 2" F.H. wood screw
angled about 10°

GF

F

G

,

Mitered
ends

CROWNLESS shelf 
exploded view

2

File: 194WallShelf2_#100672455.ai
Date: 7/09
Lorna J.

A

A

Filename: 194 Wall shelves  1   (7-11)
R LeMoine 4-27
RL 5-13
Jeff 5/18
RL 7-11

C

C

D

DMitered
ends

8" 

8"

36"

36"

34"

34½"

2"
2"

B

#8 x 3" F.H. wood screw
into wall stud

5¾"

H

E

F

F

G

85⁄16"

9⁄16 x 11⁄8"
plywood cap

9⁄16"

11⁄8"

9⁄16 x 11⁄8"
plywood cap

#8 x 2" F.H. wood screw
angled about 10°

GF

F

G

,

Mitered
ends

End profile  
of molding

2a

Both the front (B) and ends (C) mount flush 
with the top/bottom (A). Plywood caps (F, G) 
later will hide the exposed plywood edges.

B

A

C

Cutting Diagram

File: 194WallShelfCD_#100672456.ai
Date: 7/09
Lorna J.

Filename: 194 Wall shelves  3   (7-11)
R LeMoine 4-27
RL 5-13
Jeff 5/18
RL 7-11

B

D

E

E

F F F F

F

G G

G

D

H

A

B

I I J

H H

K

C

C

A

A

¾ x 24 x 48" Oak plywood

¾ x 24 x 48" Oak plywood

¾ x 7¼ x 48" Oak (2.7 bd. ft.)

¾ x 7¼ x 48" Oak (2.7 bd. ft.)

7⁄16 x 2¼ x 72" Oak crown molding

9⁄16 x 11⁄8 x 72" Oak plywood cap

9⁄16 x 11⁄8 x 96" Oak plywood cap

9⁄16 x 11⁄8 x 48" Oak plywood cap

Cutting Diagram (crownless shelf)

Cutting Diagram 

In the opening photo: Better Homes and Gardens® Candle Holders and 
Better Homes and Gardens® Frames sold at Walmart®.






